do/dAn [mb]

1072

1073

1074

107>

Ratio to Herwig 7.2.0 default

0.5

7000 GeV pp

| Spft QCD

(b, > 0.2 GeV)

= %

= o

"¢ Mo

L » L

= LT E

= -3 Herwig 7.2.0 default M [&5

4 Pythia 8.235 default ”H il

; ----- ¢ Sherpa 2.1.1 default ’ “ ;

:l | | | | | | | | | | | | | | | | | | l |:

:l T T T T | T T T T | T T T T | T T T T |:
| : " 1 1 " 1 1 " | " ‘.“‘ " 1 1 1 " | " 1 1 1 1 | " 1 1 1 1 " |
0 5 10 15 20

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


